MARKING SCHEME 	-	MATHEMATICS ALT A 	-	121/2
MARCH/APRIL – 2023
[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 1.jpg]
[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 2.jpg]




[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 3.jpg]

[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 4.jpg]



[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 5.jpg] 


[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 6.jpg]



[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 7.jpg]

[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 8.jpg]
	




[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 9.jpg]



[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 10.jpg]

	[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 11.jpg]



[image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 12.jpg][image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 13.jpg]
24. (a)

	X
	0
	30
	60
	90
	120
	150
	180
	210
	240
	270
	300
	330
	360

	Y1 = 2 cos x
	2.0
	1.73
	1
	0
	-1.0
	-1.7
	-2.0
	-1.7
	-1
	0.0
	1
	1.7
	2

	Y2 = 3 sin x
	0.0
	1.5
	2.6
	3
	2.6
	1.5
	0
	-1.5
	-2.6
	-3.0
	-2.6
	-1.5
	0


[bookmark: _GoBack][image: C:\Users\MR KOECH\Desktop\SCANS T1 2023\MATHS P2 MS 14.jpg]
@Copyright Arise and Shine Exam-2023	 Page 14

image4.jpeg
1+5 (’5/*3 *"Miﬂi;_gﬁ £ ’rﬂ?% o
'0[%"'1 +6('%’°T+ [’@@L ,, RN





image5.jpeg
s ; FIR -~
T G
i o
i 2
WS —~

£ o —

S h ": NS 4
== = T

o

— : LMT,.;

it

! i R EScH S e G
13. Variance —
jrmen————y _ B T M =
6
e —
— =3767 Al ol B P
Jr__—_ 4
‘r
e i PR e
i
b
|l
F :
I |
|- |
i <
[
i
| ~ s -
I = .





image6.jpeg
,:F) s “fo BT
O\) Yy’l},“ "\': o %l_
31255
e 4 2
‘T-PB ,;_; B1

DI E] 5:’ X6 Ta s <k
[+ Rl Tk whor

- [&53 %1

M1 M1

| — ‘/(L\,"’?_Lf
5%

(8 x7x6 [ + [ 4 x3 %]

L)z () LI:— BN

+ )
o

M1

==
165

—





image7.jpeg
P=Kwvipec ™ ==\ -

3rEE KN O : g

~0r2 = Regxle D & P kg

n ¢ TS - iy
S =RrE=TLC Or@

[

D |

~o0'2 = QL £ s
2 ALk 3

o :”ﬂL = A1
Ty = P | = ﬁkﬁ
fe=s0"% e . — =
— i - -
e — e .
S (‘D 2106 —| X\oﬁ M1 M1

1% =3 T T e

Bl





image8.jpeg
—
- ol 2

it - n
L L TR | < AE=0Y
3 a—“ A-rnlm[" lkf; e
:77' M1 \_,7 ’>7v‘7L"¢i‘J >7
T e
\ M @z 3'..11, -
" 4 T,
(f"__g;"-)‘ A= \?5
- EXPE e 3 s 4
a9y . C [\ r~ﬂ¢JG§\ '.\'7
e M 2 =2 é__L \ \, }
A= Al
—— S’ -
—@7 RPN =S —_—e 22
0 ", 77—
el =1 [=13¥)
, N
=L == 1B
-’ Z
<
(@] 5h=1 (1=
—
1= S
— s/ ~il.n\
SETAE)
— 7
=%

AT





image9.jpeg
D&,

Go 00D 16550

Soo lbe37.s

A
<
~
4
)
|
o
n
0
A





image10.jpeg
A-B

kfpl <

— Cac 7
B F a2 o Tk L8 Sl
A3-s] Bftda~e ¢ [ 277 A
’AT—B., c, A—,_'?,_C-g
L\HF&‘R ,07 s 1 s I ==¢ —1—_7:7 T
Flhep = }H-3-a% | 3 1 1
Ale 55, gl=3 aRe [0 A
Al [mp] = a-o = =&
a4
8= heacplvme
a
Kcox A BE b b Squar unds Al
5 I e S i
A L'D ,JJ L} =% L-—-| 2 | mM1A1





image11.jpeg




image12.jpeg
= [(4-43

Class Rl Mgt > &st——'*%: 4 4= cf
e 3 1% — < 12225 [396T |3
bto e 2 —<¥ 65| 4225 [2638 |9
(EaTs 8 > —£ 15| R2a5 | )R "
lo—o el e 25 1225 | ggns P
2—2L T B 5 | 1995 |2%9 2
Apz> |~ & 135 tg22c [3es | |3
2 SRl
1) | Jyolg
20
4692
= 6860 ' =
0\ &= 2% X3c = B, = /L x3 = T«
Rz = lgx+[aas—1F|5 | e84 I<-270
S Gg
— e~ + 0. F851%C | C.C +3-9%
= 15-S + 3.929 I] — .25
i





image13.jpeg
N\

S

.

e L

0 _!/sz'(swze’ = Qe

X





image14.jpeg
e

i
fabd piss

i

e

S5

H:

e

sask
i

55k

i3855 So8as,

HE

HHH

£

b

:

SISl





image1.jpeg
\‘b
)
"
A
lf?.
i

HX? po g -%(}1'371

R
B b= tac *D

ey e 7

2

i ~
WE= L (43

oo ke ke T i 4 T B, % W £
€ )=

Y9 = K3y = - -f B

i Y= F S e

lk"—‘L T A1 @
- ] L=?® o

Nammny - ’2;‘&43“—79’3_'%3'2753’—"—" ———

- Tew3oa® | | lima e |
1 e 5 SR

B T S N MU Sitncle N
,,,,, i A L SN

i‘l QX ro{ ,T/ 7_?’-%'/3“;“1—771 4 —‘_,lﬁ e H.ral o
7820°3) ¥ s 2
= 026917 7(@35 s

Al





image2.jpeg
M1

@ ;

™

M1

K

Al

Z1ZW<s
—

~>aJ

=13

B (l:>’é\i?:¥3\\v;—ﬂ_{}2 ML — .
p N 7
e i il [ L ™ aeeer
B L e £ D WCBPRY S NS
I L5 o o e 9 N
T i ATHTPT R Gl R RS o SV
S Yy~ lyp=o e
N T ) s
_ Gh o) a7 N aMEA gl e S
) ) o 3_5 P D
o MWen Y=3 At .
. AR -3(% )= s i
M- A=y PR - St

T v
s ISPV | %If_‘_, o] i = = i
I e

Y>3 xsas ' Dk





image3.jpeg
p = 200 00D —)0000

= sh 10,000 ™y

AMount = GoOXIE

— sh) 20D
5 1€yl
16200 = |oood |+ ] <

203

(c+6)6 =12°

exr+36=Iky

62> —\08

e i E e - Al 3
[ 200 J -
J I FHS = |+ v -
2 .

3L R, =xte Pg.— 1A F
O[T + b+ Lﬁ’{ 3523;114&*1—““ ) T

Craa cly=-Teq el — 7 2l
 coia Ei; O vedwe=s o T o
! T RS i PR

1,"&\20\’\7

Gdus = x —9an





